
Dividing Money (F)

Calculate each quotient.

1. 46 ) £2274.70 2. 99 ) £5318.28 3. 76 ) £5777.52

4. 67 ) £6222.96 5. 57 ) £2804.40 6. 21 ) £926.94

7. 72 ) £1804.32 8. 20 ) £1684.60 9. 52 ) £861.12

10. If 32 identical figurines cost £2550.08, how much did each figurine cost?
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Dividing Money (F) Answers

Calculate each quotient.

1. 46 ) £2274.70
£49.45

−£1840.00

£434.70
−£414.00

£20.70
−£18.40

£2.30
−£2.30

£0.00

2. 99 ) £5318.28
£53.72

−£4950.00

£368.28
−£297.00

£71.28
−£69.30

£1.98
−£1.98

£0.00

3. 76 ) £5777.52
£76.02

−£5320.00

£457.52
−£456.00

£1.52
−£1.52

£0.00

4. 67 ) £6222.96
£92.88

−£6030.00

£192.96
−£134.00

£58.96
−£53.60

£5.36
−£5.36

£0.00

5. 57 ) £2804.40
£49.20

−£2280.00

£524.40
−£513.00

£11.40
−£11.40

£0.00

6. 21 ) £926.94
£44.14

−£840.00

£86.94
−£84.00

£2.94
−£2.10

£0.84
−£0.84

£0.00

7. 72 ) £1804.32
£25.06

−£1440.00

£364.32
−£360.00

£4.32
−£4.32

£0.00

8. 20 ) £1684.60
£84.23

−£1600.00

£84.60
−£80.00

£4.60
−£4.00

£0.60
−£0.60

£0.00

9. 52 ) £861.12
£16.56

−£520.00

£341.12
−£312.00

£29.12
−£26.00

£3.12
−£3.12

£0.00

10. If 32 identical figurines cost £2550.08, how much did each figurine cost?

£79.69
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